February 04, 2014

6-3 day 2

I. Find the component form of v given its magnitude and the angle it makes with the positive x-
axis. Sketchv.
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1. Graph the vectors and the of the vectors. Find the magnitude and direction of the

resultant. } v
Note: Trig Form of a Vector: 6 must be an angle in standard position
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Ill. Applications: Force = Speed = Magnitude

Ex 5) Find the component form of the vector that represents the velocity of an airplane descending at a

speed of 100 mph at angle of 30 degrees below the horizontal (as shown).
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Ex 6) My two kids wanted to take our 100 Ib black lab Baily for a walk. They devise a scheme to use 2
leashes on Baily so both could attempt to walk her. Baily rebels and starts pulling on the kids. Dani is
pulling with a force of 20 Ibs at an angle of 27 degrees while Drew is pulling with a force of 37 Ibs at an
angle of -15 degrees. How hard is Baily pulling if she holds Dani and Drew at a standstill?
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